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PART -1

Child Development and et foremTer wet forer v
Pedagogy
1. Who said? 1. foree e am?
“Adolescence is a period of great “{SRITTereT IS oS, qT1E, G T
stress and strain, storm and strike”. Rordrer Bt 7 21 =
A. Crow and Crow
. TS 3Rl
B. Stanley Hall A e 3
C. Hunt B. TTIEA
D. Simpson C. g
D. e
2. Pre-operational phase of cognitive 2. dmTeHe foreRr ol qel-wfsharcHeh ST
development is- I 1y -
A. More than 11 years A 1198 S s
B. From 7 to 11 years
4 B. 7911 a9 dh
C. From 2to 7 years
D. Upto 2 years from birth C. 287 ai
D. SFH Y2 a9 dh

3. Reasoning, Curiosity and Observation 3. o, formam s fveor s1fxs 1 fareprer ----

are developed at the age of-
A.

7 year

B. 6 year
C.
D. 11 year

9 year

T TR T e 2
A.
B. 639
C.

D. 11y

7 99

9 Y
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4. Formulated theory by J. Piaget is- 4. 3. TSt grr wfqurfea fesia 8-

A. Cognitive development A. G faswra
B. Motor development B e RE
C. Social development
. P C. T fasme
D. Physical development
D. it fomm
5. Whose statement is this? 5. Ig % foreent 22
“The scope and intensity of learning “QgTararET § diwa sl € ST disrdr,
during infancy exceeds that of any Fprd 7 51 Tl s 6 qort i e
other period of development”. SEN > ®
A. Watson
B. Skinner A. dICE
C. Freud B. f&m
D. Adler C. B
D. T&X
6. Which is not included in the process 6. foReTivreree o foreprer wishan o s =&t
of development in Adolescence? -
A. Physical development A It R
B. Mental development
. Ot I
C. Language development B
D. Emotional development C. T forshr
D. HaTeHah foaenma
7. Development of Child starts- 7. STt S T it giar -
A. By Birth A SHY
B. Before Birth B sqaqd
C. Inpregnancy S
. TvlaeeT o
D. Before pregnancy ¢
D. THigET | qd
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8. Who is the father of Personal 8. AftrITa IS T STFHSTAT i 27

Psychology? A HEE
A. Freud 5
B. Adler -
C. Hurlock S
D. Yung D. 3T
9. “Development results in new 9. «forepr o ufoTHEEEY SAfRE § T4l
characteristics and new abilities on the forreaTd S FiH A=ATe Yok Bt /17
part of Individual”. I8 T fear T
This statement is given by- .
A. Hurlock’s A. i
B. Freemen’s B. SR
C. Cattell’s C. A HT
D. Woodworth’s D. gead &1
10. Which one is not a projected method? 10. = ©t yerfua farfer i 22
A. Rorschach Test A. Tl gdreqor

B. Thematic Apperception Test
C. Children Apperception Test
D. Stanford-Binet Test

B. SHITcHeR sy qiieqor
C. STcAsh Sy gy

D. TAhe-fom udteror
11. Social determinants include all the 11. GrTfSieh a | vt SIfet ®, hael T i
following, except- Bl
A. Family relationship A it g
B. Birth order
C. Neighbourhood B. SH
D. People’s behaviour C. T
D. S &l SRR
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12.

13.

14.

15.

To which stage, Emotional Functional
game is related-

A. Infancy’s
B. Childhood’s
C. Adolescent’s
D. Youth’s

Quantitative and qualitative aspects
are include in-

A. Inintelligence

B. In development
C. Infamily
D. In community

The gland, which influence the
Physical Development is-

A. Adrenal
B. Thymus
C. Pineal

D. Pituitary

According to Jean Piaget, which of the
following is necessary for learning?

A. Active exploration of the
environment by the Learner

B. Observing the behaviour of adults
C. Belief in immanent justice

D. Reinforcement by teachers &
parents

12.

13.

14.

15.

Hadt fparmcreh Wet fohe Tarem #1297
A. SISTEERTS

B. STeITEET &l

C. forumitrereem 1

D. JATEET

O

T FHTOTICHe T TUITceHeR veT Titaford Ted
5

A. JrEH

B. fowad

C. ufEr#H

D. @He™ |

TR i T ITe ST arett Uf 8-
A. TEHd

B. YIHy

C. e

D. fugaed

S fORITST o ST, HieH & for
frferfea ® & s STTeve 22

A. farereff g warteror S wfsha @isr

B. SUEhI oh AIEN hT STATehT hiT

C. &= = | faam
D. fRrafehi TR AR ST Y@ H
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16.

17.

18.

19.

“Children actively construct their
understanding of the world” is a
statement attributed to-

A. Kohlberg
B. Skinner
C. Piaget
D. Pavlov

Which of the following is not a
component of cognition?

A. Feelings

B. Thoughts
C. Attention
D. Perception

Children with special needs get a
better education in regular school than
in a special school because, there is-

A. No gender discrimination

B. Equity and equality

C. Competition with normal students
D. Good Cooperation

Adolescence is the period of-
A. 5-10 years
B. 11-19 years
C. 22-28 years
D. 30-40 years

16.

17.

18.

19.

sl Wfshe &Y U AT o S H STt
THET T (10T SRt 21 Teh e © fSeeht
7 T T @8-

A. FEae

B. R

C. frms

D. U
freaferfaa o & 1 T 1 Tk T 22
A. SEATE

B. =R

C. &9

D. €Rum

foreT TRt aTet ST oht et for
feremera &t e1uer Fafud fomme™ 9 se@
A. TS ATk dgure T2t

B. 3feradt X T

C. = 3E! A yfowquf

D. 3T Hgdi
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20.

21.

22.

23.

Which of the following is example of
Innate Motive?

A. Award
B. Hunger
C. Punishment
D. Incentives

Which of the following factors hinders
successful inclusion of students with
locomotor disabilities?

A. Flexible curriculum
B. Inaccessible infrastructure
C. Empathetic attitude
D. More than one of the above

A student enjoys learning the guitar
and derives satisfaction in spite of
long hours of practice. The student is-

A. Trying to please his teacher

B. Competing with others for praise
C. Intrinsically motivated

D. None of the above

Development occurs in human beings-

A. Upto the end of adolescence
period

Upto the end of childhood
Upto the starting of adulthood
D. Throughout the life

O w

20.

21.

22.

23.

1 o 9 S 97 AT IOT T 32T
2

oo wp
3

FHITTRET ® € 16T ShIeh TIhIHIE
() TersrariTTaT aret ST & a%d
THTCRT & STeT STerdT 22

/NS EKIRICRED

B. giw et gt

C. WRTIaqul T

NN N

D. 39URh H § U ¥ 3

T BT I TeR Hiae § 37 3717 & 31K
il T Tk SYATH LA o SITers[e 34
g forerd €1 o &-

A. 319 TTeTeh il GRT T 3T IR L
=8

SR o fordl g & e s
AR &9 9 Ui

JTUH ¥ IS el

A 7 ferehrer gt 2-
A. TereTiereenm & 37d a%
B. <99 % 3id deh

O O W

C. ATl ! J[EaTd h
D. Sl
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24. To cater to children from
disadvantaged backgrounds, a teacher
should-

A.

B.

C.

D.
25.

Try to find out more about them
and involve them in class
discussion

Make them sit separately in the
class

Ignore them as they cannot
interact with other students

Give them a lot of written work

Arrange the steps of curriculum

adaptation process-

(a)
(b)

(©
(d)

A
B.
C.
D

Determine need for curricular
adaptations.

Identify elements requiring
adaptation.

Implement curricular adaptations.

Select teaching and behaviour
management techniques.

(@) —(b) > (d)—>()
(@) —(b)—>(c)—>(d)
(€)= (a)—(b)—(d)
(d)—(b) =>(c)—>(a)

24. Sfera I8y o Sl ol el T O R
o T, e f3reres ot =nfeT-

A

ITeh AL H SR AT ST 3 ShITTRT
o T 378 HET ==l H WA

38 HET H AT & S8R

C. 3 3@l L 1o o 3 BT &

ST Tl T HFehd B
I aga | fofaa wed &

25.

OTGASHH ST FToRAT ok T 2l

ST hi-

(2)
(b)

(c)
(d)

A.
B.
C.
D

qISH=T SATHH o 1T, ST
1 fyertaom)

HTHTH hl STARIHAT AT qall hl
EEEIGEZEI

=T ST AR FLAT|

TRT810T ST SRR TseH qehiehl o
EREEEXCII

@ —(b)—>(d)—(c)
@ —(b)—>(c)—>(d)
(©)—(@)—(b)—(d)
(d)—(0)=>(c)—(3)
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26. Match the correct option from
Column - A and Column - B.

(a)
(b)
(©)
(d)

(1
(1)

Column - A
Dyslexia
Dysgraphia
Dyscalculia
Dysarthria
Column - B
Reading and language difficulty
Difficulty in arithmetic skills

(111) Difficulty in writing skills
(IV) Difficulty in speaking ability

A

B
C.
D

a-1, b-1, c-l1l, d-1V

. a-1Vv, b-111, c-11, d-1
a-1, b-111, c-11, d-1V
. a-1V, b-11, c-11l1, d-1

217. Creativity is usually associated with-

A

B
C.
D

Imitation

. Modelling

Convergent thinking

. Divergent thinking

26. AT - A Ud FHIH - B T T forahed 1
oot hi-

217.

(2)
(b)
(©)
(d)

)
(D

(I11) TG 1A H HiSTS
(IV) S st &THdT | hicTs

A
B.
C.
D.

FHAT - A
fewiferm
fewmnferan
feasrarepieran
femfdmn
FAH - B

T ST ST Sl TS

ST IS § hlTS

a-1, b-11, c-III, d-IV
a-1V, b-111, c-1I, d-I
a-1, b-111, c-II, d-IV
a-1V, b-11, c-1III, d-I

TATCHRT ST 0 6 §Ter ST arely

np

oo w >

TRt
"y

aAfiyamd i

AIERT |
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28.

29.

30.

Centrally sponsored scheme of
integrated education for disabled
children aims at providing educational
opportunities to children with
disabilities, in-

A. Special schools

B. Open schools

C. Regular schools

D. Blind relief association schools

The Right to Education Act, 2009
aims at making a free and compulsory
education a right for children upto-

A. Elementary level

B. Secondary level

C. Higher secondary level
D. Graduate level

Responsibilities of a special education

teacher is to-

(a) Provide one-on-one tutoring.

(b) Perform regular testing and
assessments.

(c) Modify lesson plans to align with
a student’s IEP.

(d) Treat all students alike.

Select the correct answer from the

following options.

A. (a) and (b) only
B. (a) and (c) only
C. (a), (b) and (c) only
D. (a), (b) and (d) only

28.

29.

30.

ferepeTiTT st oh foTq Wehterd fR1etm <l e
TSI ST BT 329 fershetinT sieeii oh
fore Sférer STaeR Je T 2-

A. R e

B. I &

C. Frwd =5
D. sT3e Tttt wHifiue™ wha

f3rer =1 Srferer rferfem, 2009 w13

R ¥ TR o STl o 17T [k SN el

37817 =AY Ueh TR ST 82

A. T TR

B. HATeAH T

C. IToat HTEATHE T

D. ETae &

e forary farer fareren <t formaTici-

(a) TS BT I T T&H

(b) TFrafia wieor 3 ST i

(c) foremeff & IEP & o1 Sfgd A &
AT U1 FISHTST ot wfRE i

(d) Tfi BT F AT THH TAER |

frferfaa fasheat & @ ot ST T ===

e

A. Fad (a) 3T (b)

B. %ad (a) 37 (c)

C. &ad (a), (b) 3 (¢)

D. &ad (a), (b) 3 (d)
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PART - 11

Hindi =t
31. Srieren forg it ST & SR W 34. Her Y18 T UATATHT ITeg Tt ST
Erfore Sreat H § HE 3168 T =T | o ¥ TRt Ty
A. Tgel A &t
B. dggt B. g
C. uget C. g
D. dgfg D. fu=
32. fedt v & 3 Tl ot s fore g 35. “fSReehT IS I 7 21 36 aTSRITT o fog
ToT %ehTee o HE § ST fHehetd 8- T I8 HHTTd Il & T fafta]
A. 20 A, AT
B. 25 B. =T
C. 11 C. @SIaer
D. 15 D. 3T
33. 3fer + a1ferk = sreafer 36. a3 TR AW ¥Toq T qdH T HHTIoId
79 Gty foese ° e e Efr 22 ST H & TR ARaT-
o Il # € e faflay) qgVa o8 - T
A. @R A. o
B. T[0T TR EfY B. dreor
C. o T iy C. T
D. 3aTfe T Er D. &

SPACE FOR ROUGH WORK / &% &Td & fo1 e

20462-YKIWZ-ZKZ-PR-ELE-M1 12 37 SetA




37. Fr=r for dunrfora S 0 & Tt firer o
I Sfu-
el -1 gt - 11
(a) <RUE OBREURICH
(b) A (1) I I8

(c) S (II1) ATl I1e8
(d) IGER (IV) SRHE! 3758
wyTferd firer -

A. a-II, b-1I1, c-IV, d-1
B. a-lIl, b-1V, c-11, d-1
C. a-Il, b-1V, c-I, d-1II
D. a-l, b-III, c-11, d-IV

38. “ficTerner” I1se | i @1 THE fifgd 27
o Il # | e fore-
A. TR T
B. FHIRT a9 E
C. fsr@me
D. wigsiife @ame

39. S YIeeYT Iee ¥ IS TRt 3HehT 37

TATIEY e FEAH B

40. o3 T gt @ fire™ it gl e sATEa-

(2)
(b)
(©)
(d)
A.
B.
C.

D.

gl -1 ot - 11
CICr on IS
TS a f=
3T I ="
RN Iv) &sn

a-1l, b-111, c-1, d-IV
a-1V, b-11, c-1I1I, d-I
a-1V, b-1I1, c-11, d-1
a-111, b-1, c-IV, d-11

41. fer e senreff sreal o1 gl A ShifTu-

(a)
(b)
(c)
(d)
A
B.
C.

D.

gl - 1 gt - 11
T (I) I, =HHh
qET (I) &, AdeTsl
aref (1) |, &0
e (IV) grAd, =t

a-11, b-11I, c-1V, d-1
a-1V, b-11, c-1III, d-I
a-1V, b-1, c-11, d-1II
a-1I, b-1V, c-1, d-1II

42, “f8 3@ 98 A1 § O @217

SYUh AT | ki 9T a1 22

o Il # @ e fafay)

A

B
C.
D

[EERCICEXR CEit

o o
.St en Hda-dH

TS G

. G Ga-TH
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43. “IrEAT’ o8 HIT o i & Yh oh SA=Tid

44,

45.

JTAT 27

A. fhaTae G3T
B. MIeeT=eh |31
C. Sifeerereh €31
D. dqedTes G

“H STgd fHraTE @d 2

JURIH ST | i 9T fareiyor 22
o Il # @ e faflay)
A. TUTETE ferRoT

B. TEATETE foemor

C. 3t uftaorarers foreor
D. HraHATHe foreoT

ST o ShIE 31T B 87
o I e fafa]

A. T TR SR EH A1
B. 3fedfeR TR quf form

C. 3w iR fadw

D. ¥ g 3R foreanfe g=reh

46.

47.

48.

“fg ot nft, O BEA T3 B
HTferd ST | & o o Tl Teh sl
RIE

A. faumeTes s

B. feare are

C. =M di

D. Hohddaresh a1

A o arrerr =t g1ee wu W farfag
3! =T Th TRH Y =11

A. T U TRA 9 &9 § =11
B. T3 9 & T %Y =1
C. T3 U Y T 919 =11
D. T TRH Y 91 3 =Y

T YT BT AT - 0 AR 6 fofT
I9Ih HETa IR feafay

A. 9 Ra=ret 31e yen

B. 3R T
C. 3o W YeoR IS
D. 319 I W FHRTE! ARAT

20462-YKIWZ-ZKZ-PR-ELE-M1
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49.

50.

51.

“STH o STH TSRl & I - 34 TAI[h
o 37 TTTord ST & & e farfa-
A. TF €T 3l S fHaemT

B. fewmer stferes st

C. &Ie & o

D. T 3% o 3T TTesh T

& TR HRTeRi 1 31l |fed wyfa e
Fifera-
Tt — 1 gt - 11

(a) Sfcerl 3BT () U AET

(b) AT@ HTHAT (1) ToemT

(c) TILTSE  (Il) 9ga J&~ &
(d) =TI T V) @I

A. a-Il, b-IV, c-I, d-1II
B. a-lIl, b-1, c-1V, d-II
C. a-l1V, b-1l, c-1, d-11I
D. a-Il, b-II1, c-1, d-IV

{1 T3 STeeT T A W STHTHRL SATehITh b
ot shrfore

(1) Sha (I S

(III) TS (IV) T

A. (I)—>(IV)— (1) —(II0)
B. (II)—(IV)—(I)—>(III)
C. (D—(IH)—(IV)—>(I)
D. (II) = (IV)— () — (1)

52.

53.

54,

SR T O foal T ShT et o Her
AT el 8-

A. T3reses st e I

B. ifad WToT €eg STaTaer

C. JuimTar =

D. @a amft

sTeal § HTHT 3TSi hT &TodT-
A. SIS it 2l

B. HTaT-fUar & fierdt 21

C. vrufires forenets & fierdt 21
D. 3wk auft

ol 37T STST | ek ol o AT
I § F&TH B ST 8-

A. 18T H AGH
B. 169 s H
C. 109Nl g H
D. 0439 S H
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55.

56.

S7.

TR TR H TE 1Tl o farhre
RTESAT AT AT

A. FUT G % gRT

B. AW fer@ameht

C. TaTer 3TTEl forest wme Re=ramant
D. fett & wdt adih o T7 st

e H T &FFT oh1 Haireren foaehe
gl 8-

A. 13T TETF

B. ITd @l &
C. A= H
D.

gl Iid-ferar o

T & YT hizret H 7 &9 4 FEid -

A. T Shigd BT
B. 9w gMT

C. o EEd BT
D. 3WIh axft

58. e I o I HATHTH o [T HeTdl
s fafer 2-

59.

60.

A
B.
C.
D.

e

e

gA T

1S AT 9%

T % Feft 9e ST AT Y S 3 B
aTfeT-

o w >

EIRICT]

S IGIEED S RIET
IIECRRRRIET]
N
~N N '

HTYRIT ShIST o ITTohaId o Hae | I
U B-

A

SHATRHAT shadd BT & g ITFW BT
2l

TTTRIT ShiSTet ohl A= forsar hl e |
o} g ST HehT 2

HIYT hl HATehedd shddd RIS g{-d%
Heiferd g =Ry
AT SRt § HIGHTNT SRl T 2

T =N
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PART - 111

English

Read the following Passage ‘A’
carefully & choose the appropriate
answer from the options given for
Que. No. 61-69.

Passage - ‘A’

If we consider what happens in
conversation, in reveries, in remorse,
in times of passion, in surprises, in the
instructions of dreams, wherein often
we see ourselves in masquerade, --the
droll disguises only magnifying and
enhancing a real element, and forcing
it on our distinct notice, --we shall
catch many hints that will broaden and
lighten into knowledge of the secret of
nature. All goes to show that the soul
In man is not an organ, but animates
and exercises all the organs; is not a
function, like the power of memory, of
calculation, of comparison, but uses
these as hands and feet; is not a
faculty, but a light; is not the intellect
or the will, but the master of the
intellect and the will; is the
background of our being, in which
they lie, --an immensity not possessed
and that cannot be possessed. From
within or from behind, a light shines
through us upon things, and makes us
aware that we are nothing, but the
light is all. A man is the facade of a
temple wherein all wisdom and all
good abide. What we commonly call
man, the eating, drinking, planting,

61.

ST

counting man, does not, as we know
him, represent himself, but
misrepresents himself. Him we do not
respect, but the soul, whose organ he
is, would he let it appear through his
action, would make our knees bend.
When it breathes through his intellect,
it is genius; when it breathes through
his will, it is virtue; when it flows
through his affection, it is love. And
the blindness of the intellect begins,
when it would be something of itself.
The weakness of the will begins, when
the individual would be something of
himself. All reform aims, in someone
particular, to let the soul have its way
through us; in other words, to engage
us to obey.

According to the passage A, what
happens when the soul manifests
through human intellect and will?

A. It leads to genius and virtue.
B. It causes blindness and weakness.

C. Itresults in eating, drinking and
planting.

D. It magnifies and enhances human
disguises.
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62.

63.

How does the author describe the role
of the soul in relation to the intellect
and will in passage A?

A. The soul is subservient to both the
intellect and will.

B. The soul is the master of both the
intellect and will.

C. The soul is unaffected by the
intellect and will.

D. The soul is controlled by the
intellect but not the will.

According to the passage A, what role
does the soul play in human
existence?

A. It acts as a mere organ that
operates independently of other
faculties.

B. It functions as a faculty, like
memory or calculation, guiding
human behaviour.

C. Itis the background of human
existence, animating and
controlling all other faculties.

D. It serves as a source of weakness
and blindness in human intellect
and willpower.

64.

65.

66.

What is the ultimate aim of reform, as
suggested in the passage A?

A. To suppress the influence of the
soul on human actions.

B. To encourage individuals to assert
themselves independently of the
soul.

C. To allow the soul to express itself
through human actions and
behaviour.

D. To prioritize intellect and
willpower over the influence of
the soul.

In the sentence ‘A man is the facade
of a temple wherein all wisdom and
all good abide’. What is the function
of the word wherein in the context of
the passage A?

A. conjunction
B. adverb

C. adjective
D. verb

‘All goes to show that the soul in man
IS not an organ, but animates and
exercises all the organs.’

What is the function of the word ‘in’
in the sentence?

A. Preposition B. Adverb
C. Adjective  D. Pronoun
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67.

68.

69.

‘The droll disguises only magnifying
and enhancing a real element, and
forcing it on our distinct notice.” The
word in italics notice is used as-

A. Noun

B. Verb

C. Adjective

D. Adverbial phrase

Which word is a synonym for ‘droll’
as used in the passage A?

A. Amusing

B. Mysterious

C. Serious

D. Intense

What does the word ‘reveries’ most

likely mean in the context of the
passage?

A. Regrets

B. Daydreams
C. Conversations
D. Surprises

Read the following Passage ‘B’
carefully & choose the appropriate
answer from the options given.

Passage - ‘B’
None the less, at some time, | fear,
everybody is a bore, because
everybody now and again has a fixed
idea to impart, and the fixed ideas of
the few are the boredom of the many.

Also, even the least self-centred of
men can now and then have a personal
experience sufficiently odd to lose its
true proportions and force him to
inflict it over much on others. But
bores as a rule are bores always, for
egotism is beyond question the bore’s
foundation stone; his belief being that
what interests him and involves
himself as a central figure must
interest you. Since he lives all the
time, and all the time something is
happening in which he is the central
figure, he has always something new
to discourse upon: himself, his house,
his garden, himself, his wife, his
children, himself, his car, his
handicap, himself, his health, his
ancestry, himself, the strange way in
which, without inviting them to, all
kinds of people confide in him and ask
his advice, his humorous way with
waiters, his immunity from influenza,
his travels, the instinct which always
leads him to the best restaurants, his
clothes, his dentist, his freedom from
shibboleths, he being one of those
men who look upon the open air as the
best church, his possible ignorance of
the arts but certitude as to what he
himself likes, his triumphs over the
income-tax people. These are the
happy men, these world’s axle trees.
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70. What does the phrase ‘world’s axle-

trees’ imply in the context of the
passage B?

A.

B.

C.

D.

A metaphor for the boring
individuals described

A reference to a specific location

where bores gather

A symbol of humility and self-
awareness

A description of a physical object

found in gardens

71. According to the passage B, what is
the belief of a bore regarding what
interests them?

A

B.

D.

They believe that only intellectual

topics interest others.

They believe that what interests
them must also interest others.

They believe that their interests
are unique and should not be
shared.

They believe that their interests
are unimportant.

72. What effect does the author achieve
by listing various topics that bores
might discuss in the passage B?

A

B.

Providing examples of engaging
conversation topics
Highlighting the diversity of
interests among individuals

[llustrating the self-centered nature

of bores

Demonstrating the author’s
admiration for bores

73. “all kinds of people confide in him and
ask his advice’ The word in italics
confide is used as-

A. Noun
B. Adverb
C. Verb

D. Adjective

74. What is the meaning of ‘inflict’ in the
sentence ‘force him to inflict it over
much on others’?

A. To enjoy
B. Toendure
C. Toavoid
D. To impose

75. Which word is a synonym for
‘egotism’ as used in the passage B?

A. Modesty
Generosity
Narcissism
Humility

O O w

SPACE FOR ROUGH WORK / &% &Td & fo1 e

20462-YKIWZ-ZKZ-PR-ELE-M1

20 37 SetA




76. Look at the following conversation

between a teacher and the students-
Teacher : Why is India called the land
of festivals?

Pupil : India is called the land of
festivals because many festivals are
celebrated here.

Teacher : Give the names of different
festivals celebrated in India.

Pupil : Holi, Lohri, Diwali, etc.
Teacher : Who is she? (by showing
them a picture of goddess Lakshmi)
Pupil : She is goddess Lakshmi.
Teacher : When do you light the
candles and worship the goddess
Lakshmi?

Pupil : On Diwali Festival.

Teacher : Compose, a paragraph on
‘The Diwali Festival’.

Pupil : No Response from the class.
At the last question the students do not
speak anything. They remain silent.
Then the teacher asks them, “Please
speak a few sentences on The Diwali
Festival”. One or two students try to
speak one or two sentences but they
are not able to continue the topic.
Then the teacher says, “Well students!
Today we shall learn to write a
paragraph on The Diwali Festival.”
What is this skill called?

A. Skill of introducing a topic /
lesson

B. Skill of concluding a topic / lesson
C. Skill of questioning
D. A general filler

77.

78.

Here are some statements related to

learning and acquisition-

() Learning involves conscious
study, while acquisition occurs
naturally.

(I1) Learning occurs through explicit
instruction, while acquisition
happens through exposure and
uses.

(1) Learning refers to the acquisition
of a second language, while
acquisition is the process of
mastering one’s first language.

(IV) Learning focuses on written
language skills, while acquisition
primarily emphasizes oral
language skills.

In the light of the above statements,

which option is correct?

A. Only (1) and (I1)
B. Only (I) and (111)
C. Only (1) and (1V)
D. Al (D, (11, (111) and (1V)

Which language skill involves
decoding written language?

A. Speaking
B. Writing
C. Reading
D. Listening
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79. One reason why second language
learners make errors, i.e. the influence
from the learner’s first language
(mother tongue/L1) on the second
language (L2). This is called-

A. code switching
B. code mixing
C. interference
D. interlanguage
80. Which principle emphasizes the
importance of meaningful

communication and authentic
language use in language teaching?

A. Grammar-Translation Method

B. Communicative Language
Teaching
C. Audio-Lingual Method

D. Direct Method

81. Mr. Dhanesh, a language teacher
incorporates videos, audio recordings
and online interactive activities into
his lesson plans to enhance students’
engagement and understanding.
Which teaching-learning material is
being utilized in this scenario?

A. Textbook

B. Multi-media materials
C. Multilingual resources
D. Realia

. The primary function of language

according to the socio-cultural
perspective-

A
B.
C.

D

Expressing emotions
Transmitting information
Establishing social relationships
. Solving problems

. Ms. Astha, a language teacher

conducts one-on-one interviews with
students to assess their ability to
express ideas clearly and coherently.
Which language skill is being
evaluated in this assessment?

A

Listening

B. Speaking
C.
D

Reading
. Writing
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84. Which of the following are the
features of the grammar-translation
method.

()  Grammar is taught prescriptively
— through the presentation and
study of rules.

(1) Practice is provided through
translation exercises from the
mother tongue to the target
language and vice versa.

(1) A distinctive feature of this
method is its focus on translating
the sentence.

(1V) English synonyms or
equivalents are used to explain
new items.

Only (1) and (1)

Only (1), (I1) and (111)
Only (1) and (1V)

AL (D, (11, (1) and (1V)

o w>

85. Which among the following is not a
claim of Vygotsky on cognitivism
theory based on the developmental
analysis, the role of language and
social relation?

86.

A. A child’s cognitive skills can be

understood only when they are
developmentally analysed and
interpreted

Cognitive skills are mediated by
words, language and forms of
discourse which serve as
psychological tools for facilitating
and transforming mental activity

Knowledge is situated and
collaborative

To memorize and recite
information

An English language learner often
says ‘I goed.” instead of ‘I went.” This
phenomenon is known as-

A

Developmental error

B. Overgeneralisation
C.
D. Slip

Fossilization
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87.

88.

In a language class, a teacher provides
additional support and instruction to
students who are struggling to grasp
certain language concepts.

What type of teaching is this?

A. Enrichment teaching
B. Remedial teaching

C. Differentiated teaching
D. Inclusive teaching

While writing various subskills are
employed. Arrange them in proper
order:

() working out what you want to
say, i.e. getting or developing
ideas.

(1) drafting/writing the first draft
(the first version (or form) of a
piece of writing, that may well
be changed)

(1) editing (correcting and
improving the content of the
text)

(1V) working out the order in which
you want to say it, i.e. planning /
organising ideas.

(V) re-drafting (writing a
second/final version of your
piece of writing).

(V1) proofreading (checking mistakes
for accuracy and correcting)

A. (1), (V), (1), (i, (V1), (V)
B. (1), (1N, (1), (IV), (V), (V1)
C..(1), (1), (1), (1V), (V1), (V)
D. (1), (IV), (V1), (V), (1), (1)

89.

90.

This sub-skill of reading involves
glancing through a text to get a
general idea of what it is about. This
sub-skill is-

A. intensive reading

B. inferring

C. skimming

D. scanning

Teachers sometimes work with
models (clear examples) of text types
when teaching writing. Models can
show learners what patterns of
language, vocabulary, register or
layout to use, or how to structure their
writing. They can also help learners
get ideas about what to write. This
model of teaching writing is called-

A. Process writing
B. Guided writing
C. Free writing
D. Pre writing
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PART - IV
Mathematics ot

91. Which of the statements given below 91. = fou U el | & I AT/ HAT TRl
is/are correct? )

(a) Procedural knowledge is related (a) THITERe T T Gvay forelt warret
to knowing the process of

solving a question. 1 & A T AT BT T F 2
(b) To learn mathematics it is (b) IO € o feTT fshaTeneh 1

enough to have procedural AT E 9ITH B

knowledge. _ (c) ot ararermom st aftnfya v &
(c) Defining a concept is conceptual

knowledge. AT T ,
(d) The development of one of the (d) STTIRTCHh ST FfshaTeHsh S H &

conceptual and procedural forelt weh =1 forehre q@t o forepra &

knowledge is helpful in the e B

development of the other.

A. Had (a) 3 (d)

A. (a) and (d) only
B. (b)and (c) only B. e (b) 3R (c)
C. (a) and (b) only C. &ad (a) 3 (b)
D. (a), (b) and (d) only D. Fad (a), (b) 3R (d)
92. What is the expectation from the 92. <SR Hieer” o qaq HRa- aTel | I
learner under the ‘banking model’? T Bl 22
A. Work cooperatively with A TSt F e T geeT &
classmates. .
: . e
B. Solve multiple questions of the
same type using the taught B. foram s fafr & s €t ag o ok
method. T4 TA
C. Make maximum use of ability to C. =Te TEY Y odT FT ST T
remember. -
D. Try to find own way to learn. o
D. ¥ o fore 1T Tt T e
I i
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93.

94.

Match these-
List - 1

() Banking Model

(b) Constructivist Model

(c) Programming Model

(d) Axiom
List - 11

(I) Dbeing actively involved in the
learning process.

(I1) a statement that is generally
accepted to be true without
proof.

(1) repeat what has been read
correctly.

(V) following a series of instructions

A. a-ll, b-1ll, c-1, d-1V
B. a-lll, b-1, c-1V, d-ll
C. a-lll, b-Il, c-1V, d-I
D. a-1V, b-1ll, c-Il, d-I

A series of steps applied in a particular
sequence to solve a mathematical
problem is called-

(@) proof (b) algorithm
(c) hierarchy (d) axiom
A. (a) only

B. (b) only

C. (b) and (c) only
D. (a) and (d) only

93.

94.

gufd shifsTe-
g - 1

(a) ST

(b) THAETE Higd

(c) ST Hied

(d) STTET
At - 11

(1) e Y 9ishar & afsha &7 9 St
T

(1) T e o grr: fomm T & wer
HHT ST 2

(111) Y TS STl ohl 3ok aHE GIeTHT

(IV) TaeTt 3t Uk et st are

A. a-II, b-III, c-1, d-IV

B. a-III, b-I, ¢-IV, d-II

C. a-IL b-11, ¢-1V, d-1

D. a-IV, b-II1, c-I1, d-I

fopet Tl Teer o6t B A o fT U

FerRTe ShH | TTRY ol ST et = on sh

(a) YU

(c) IR

A. Fad (a)
B. %ad (b)
C. &ad (b) 3T (c)
D. %ad (a) 37 (d)

(b) TIEH
(d) At
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95. If a represents abstract concepts, 95. AT a I STUTOMSAT I,
b represents broad ideas, b a9 fo=Iml o,
c represents concrete situations and o T iRt Bt i

s represents specific situations

then show how mathematical ideas s farfere feerfcrart st = o &t
often increase? ql guIsT foh TITUTC e foram o hel sigd
A. atobandstoc &
B. ctoaandstob A. aT b T s T ¢ HiT 3T
C. atocandbtos B. ¢ a3t afits &b H 3l
O broaandetos C. ad o i st b ¥ s A 3R
D. b8 ahl LI c Vs FHI AR
96. In what models learning is divided 96. for Hieal W i = W@ fafIrs Suskon &
into specific substages that are dieT SraT B, f9=2 o) o 31w g1

achieved through repeated practice?
A. Banking and constructivist

B. Constructivist and programming
C. Programming and banking
D

g foram StraT 22
A. SfT 3R AT
B. TATETE! 3R T

. This is a common feature of all C. St iR s
three models. D. 7% il Hred! &1 Swafg o R
97. “The sum of two odd numbers is 97. gt foem d&ATAY ShT ANT SHIM Tk 99
always an even number.” G BT =17

How can we check whether this

- Y o eI 7 AT B hl SITe
statement is true or false? | Gl e

F HAT?
A. by empirical method
B. by experiment A. #g it frfer &
C. by observation B. SIS
D. by deductive logic C. STl g
D. frmfe ok g
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98. The method of arriving at conclusions 98 feTd-S[eTd S-S € aTed 3179 o6

based on repeated similar experiences TR 9T TSI dh T o alieh ol Fhgd
is- %_ h
A. deductive logic

JeEvE 9 A, Frmfs o
B. inductive logic
C. empirical logic B. AT T
D. constructive logic C. TIwIfereh deh

D. EATETE! deh
99. “The sum of the four angles of a 99. «fereft =T o =TT SHIVT T T 360° BT

square is 360°,” by analysing this 2, 39 AT T T ek g7 Ho -
statement, we think about the 3t et 35 Tt 0T ST AT 360°
statement that “the sum of the four N NI
angles of a quadrilateral is 360°”. This BT 2", o A & 1 8 Tk I
is an example of- 2-
A. concretization A. qjmmsm
B. abstraction B. SToeaHT &
C. generalization B

JEnEralzatior C. SATIRIHT h
D. particularisation

D. fafsrsietor =
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100.

101.

If a, b, c and d represent
specialisation, generalisation,
conjecture and prove or disprove
respectively, then choose what mental
process do we go through while
thinking mathematically?

A.
aa{c}ed
b

Al

How is ‘assessment’ viewed in the

context of a constructivist classroom?

(a) It guides the learning process.

(b) It shows what the child has done
wrong.

(c) Itonly checks the learning
outcomes.

(d) Itis an essential part of the
learning process.

A. (a) and (d) only
B. (b) and (d) only
C. (a) and (c) only
D. (b), (c) and (d) only

100.

101.

Ife a, b, ¢ 3T d wasT: fafrsiem,
AT, A T I

foree/arftres seam sl wefdfq s =, ar
i fof TTTOTe T ek & A o SR &
o HTTRTeR SIS & Tod 82
A.
a— { E}—) d
Al
B.
Cc e{j}e b
P
C.
b a{i}—) a
P

D. b

H{d}%a
A

TIFTATE heTT oh T § “3ATehet’ ol ol

ST ST 87

(a) I8 WG sl Ifsham sl Arfesid 2T 21

(b) IE TTIaT & foh sr=el 3 T-RT TTeAet
ERIK

(c) I had HIEH & Ufawa il e
AT 2l

(d) e it wfsrar ot 1femd feea 21

A. Fad (a) 3 (d)

B. ahad (b) 3R (d)

C. %ad (a) 3 (c)

D. ad (b), (c) 3 (d)
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102.

103.

104.

The characteristics of a constructivist
classroom is-

A. The child is good receiver of
teaching.

B. He listens to the teacher’s words
patiently.

C. He is free to ask questions and
present his arguments.

D. He is given ample opportunities to
practice the methods taught.

In what order should one proceed
while teaching the concept of addition,
theoretically?

A. picture — solid — picture
symbol — number symbol

B. number symbol — solid —
picture — picture symbol

C. solid — picture symbol —
picture — number symbol

D. solid — picture — picture
symbol — number symbol

Solving mathematical problems

increases the following abilities of a

person-

(a) ability to think clearly.

(b) ability to explore relationship and
patterns.

(c) ability to retain facts in memory.

(d) ability to think logically and
systematically.

A. (a), (b) and (c)

B. (b), (c) and (d)

C. (c), (d)and (a)

D. (d), (a) and (b)

102.

103.

104.

Teh TETETE ShedT shi fargieer 2-
A. ST 31807 ShT 7T TEUIhd BidT 2l
B. d% etk i st 1 SRIqEsh a2

C. 98 I i I 37 Teh W o foIg
T BT B

D. 39 fa@rs s fafmat o s & o
T SFEL O ST R

ST hl AT faErd g9 faeeidd:
forer srA § 3T QT ST ITfew?

A. -3\ — fo wefter — g gt
B. AT Tefieh — 31 — ot — ot et
C. 3 o= wefter - o — T udir
D. 3| — e — fer wefieh —» v et

T ot T B i O TRl =R Y

(a) gfEd & @ dred i g

(b) et S el it gt St

(c) TN ol T H LT L hl GHAT|

(d) iR 3T shweres ath O T
&HdTI

A. (a), (b) 3 (c)

B. (b), (c) HR(d)

C. (c), (d) ¥R (a)

D. (d), (a) HR (b)
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105. Assertion (A) : P completes a work in 105. fsreher (A) : P forelt &t 10 fea &

10 days while Q completed the same QT AT, STelfeh Q e hiH 1 5 feT |
work in 5 days and both were given %W%Waﬁaﬁwnﬁaﬁﬁm
same wages. S &~
Reason (R) : Q has been allotted easy Slel

work. HIT (R) : Q T T H1H f=m 7= 2
Select the correct answer from the qﬁ%ﬁ?}qﬁﬁmﬁﬁgﬁwgﬁ@

options given below-

A. Both Assertion (A) and Reason
(R) are true and Reason (R) is the

A. NI (A) TUT HRT (R) THT T
& AT BT (R), AR (A) T T

correct reason for Assertion (A). I |

B. Both Assertion (A) and Reason B. 3o (A) T FROT (R) SHT T
(R) are true but Reason (R) is not & T 0T (R), SANTR (A) T T
the correct reason for Assertion D o 3 ’
(A). T TS 2

C. Assertion (A) is true but Reason C. FARIH (A) Hed © W 1T (R)
(R) is false. 3T 2

D. Assertion (A) is false but Reason D. AR (A) STHE & T I (R)
(R) is true. OR i

106. . /6.0001000 = 106. . /6.0001000 =

(a) 0.001 (a) 0.001

gbg 0.01 (b) 0.01

c) 0.010

(d) 0.0100 (c) 0.010

Select the correct answer from the f\d) (3;0100, -

following options- fe foreredt @ Tl S T

A. Only (a) A. T (a)

(B;' gn:y («'g), (b) anj (3) B. e (a), (b) 7T (c)

- Only (b), (c) and (d) C. ad (b), (c) T (d)
D. Only (c)
D. &dad (c)
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107. One hectoliter = 107. us gaeietiet =
(@) 10,000 centiliter (a) 10,000 G-diefiet
(b) 100 cubic decimeter Seftfer
(c) 1000 cubic centimeter ®) 188&
(d) 108 cubic millimeter ©) X il
Select the correct answer from the (d) 10° = furefivie
following options. AT faspeyt & w3 ;orﬁq
A. (a) and (b) only A. et (a) 99T (b)
B. (c)only
B. %ad
C. (a), (b) and (d) only ©
D. (d) only C. *dd (a), (b) 7T (d)
D. &ad (d)
108. 108. .
Average of four fractions 33,234E R fr= 33,234E e 5.0 =7 i
4 8 4 4 8 4 4
and 5% is- &
A. 41
A. l 32
32 B. _8
B. 8 >3
°9
C. .4 “ 11%
C11—
9 D. ,11
D. 4£ 32
32
109. 0.72=2% 109. 0.72=2%
A. 7.2% A 7.2%
B. 28% B 28%
C. 0.0072% . 0.0072%
D. 72% i ’
D. 2%
SPACE FOR ROUGH WORK / T &1 & forar srire
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110. A person on selling two scooty each at

¥ 98,000 at a profit of 15% on one and
at a loss of 15% on second. What
percentage of profit or loss he has
made on total transaction?

A. 2.25% Loss
B. 2.25% Profit
C. 225% Loss

D. 225% Profit

110. wep ek ¥ &1 Tl § W T i X 98,000

T SR Tk T 15% ShT ST T g 0
15% o1 T IaTS, T R o & o 34 fobet
SfcreTa 3T T AT 71 §32

A. 2.25% B
B. 2.25% AT
C. 225% @
D. 225% Wt

SPACE FOR ROUGH WORK / &% &Td & fo1 e
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111. Match the following-

Column - |

() Ontravelling a km. in b hours,
speed =

(1) b meter/second =

(1) On walking same distance with
speed of a km/hour and b
km/hour, average speed =

(IV) With speed of a km/hour
distance travelled in b hour =
Column - 11

2ab
@ a+b
(b) ab km.

(c) b x%km./ hour

km./ hour

(d) %km./ hour

Select correct answer from the options
given below-

A. I-a, ll-c, Ill-d, IV-b
B. I-b, II-d, Ill-a, IV-c
C. I-c, llI-b, Ill-a, IV-d
D. I-d, ll-c, Ill-a, IV-b

111, Frrferfaa gifere Aifim-

T - |

(I) b= ¥ a forrl. g & T W
W:

() b HieX/ FvE =

(I11) &= ot a Tohelt./oer e b
feret./eueT &t =Tt @ T W AEd
W:

(IV) b EeT A a foret /muer it T & 7
1 TRl g =

e - 11

(a) 28 fepet/eroeT
a+b

(b) ab o,

(c) bx% [EiWecisil

d) % fepeft /soer

T fed T foreneal @ w=ET SO T =T
Fifera-

I-a, Il-c, I1I-d, IV-b

I-b, I1-d, Ill-a, [V-¢

Ic, II-b, Il-a, IV-d

I-d, Il-c, Il-a, IV-b

oo w >
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112.

113.

Match the following-

Column - | Column - 11
If A:B:C= thené B. Ez
B C A
m 1:2:3 (a) 4:1:2
a 2:1:2 (b) 2:1:4
(mn 3:2:1  (c) 3:4:18
(v) 1:1:2 (d) 9:12:2

Select correct answer from the options
given below-

A. I-c, Il-a, I11-d, IV-b
B. I-a, Il-b, lll-c, IV-d
C. I-b, ll-c, Ill-a, IV-d
D. I-d, Il-a, Ill-c, IV-b

Arrange the following steps to find
area of a rhombus of side a and one
diagonal 2d,

(a) Find value of second diagonal
2d, by the formula

(b) Area = %x (20, x 2d,)
(c) Putvalues of d; and d,
(d) Calculate %x(2d1x2d2)

Select correct answer from the options
given below-

A. (€)= (d)—(b)—(a)

B. (¢)—>(b)—>(a)—(d)

C. (0)—>(c)—>(d)—()

D. (a)—(b)—>(c)—(d)

112.

113.

Freferfiae = gaferd AR
Tdry - | TR - 11

It A:B:C=

m 1:2:3
am 2:1:2
(mn 3:2:1 (©) 3
(v) 1:1:2 (d) 9: 12 2
T fer T ot & et I o =R
-

I-c, II-a, ITI-d, IV-b

(a)
(b)

w >

I-a, II-b, Ill-c, IV-d
I-b, Tl-c, ITl-a, TV-d

O

D.

WSIT a QT O farehol 2d, aTet Srergydst
T RS JTd FH o foTT T = At

o § e shifsTu-
(a) @ forehol 2d, =1 M o

d, =/a?—d? sy
(b) & = %X(Zdledz)

(c) dy T d, 1 HE @

I-d, II-a, I1I-c, IV-b

(d) %x(Zdledz)‘oﬁTrUm‘eﬁl

e foa T forepet & @ T ST AT T
£ifre.

A (©)=(d)—>(b)—(a)

B. (c)—>(b)—>(a)—>(d)

C. (b)=>(c)—>(d)—>(a)

D. (a)—>(b)—>(c)—>(d)

SPACE FOR ROUGH WORK / &% &Td & fo1 e
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114. _ 3 7
If we take fractions 0.75,§,2—5,1.57

in descending order, then what will be
the third fraction from the beginning?

A 3
5
B. 0.75
C. 7
25
D. 1.57

115. 4 Xxy =X +y3 +3xy(x+Y), then
(0*1)x2="?
A 0
B. 1
C. 27
D. 32

116. Relationship between HCF and LCM
of two numbers a and b is-

A HCF@b)=——t
LCM(a,b)
HCF (a,b) x LCM (a, b) =%

C. HCF(a,b)xLCM(a,b)=axh
D. axHCF(a,b) =bxLCM(a,b)

114 gfe far=t 0.75%,215,1.57 CARCCIU]
S T o, 1 31 & et et i € gt

115.

116.

A

B.
C.

D.

3

5
0.75

7
25
1.57

afe xxy=x3+y> +3xy(X+Y), dd
(0%1)%2=2

A
B.
C.
D.

0
1
27
32

3T TSN a 99T b o HCF 99T LCM

A

HCF (ab) = —~
LCM(a,b)
HCF (a,b) x LCM (a, b) :%

HCF(a,b)xLCM(a,b) =axb
axHCF(a,b) =bxLCM¢(a,b)

SPACE FOR ROUGH WORK / &% &Td & fo1 e

20462-YKIWZ-ZKZ-PR-ELE-M1

36

37 SetA




117.

118.

Arrange the following steps to find

sum of days (D), hours (H), minutes

(M) and seconds (S) from Time

Calculator-

(a) Enter Add+ of calculator

(b) Again enter other values of D, H,
M and S in the calculator.

(c) Enter calculate function of
calculator

(d) Enter D, H, M and S in the
calculator.

Select the correct answer from the

options given below-

A. (@)—(c)—(b)—(d)
B. (¢)—>(a)—(b)—(d)
C. (d)—>@—>(b)—()
D. (b)—(d)—(a)—(c)

Arrange the following steps to find

volume of a cuboid.

(@) Volume of the cuboid
V=4Lxbxh

(b) Find £xbxh

(c) Find length (£), breadth (b) and
height (h) of the cuboid

(d) Putvalues of £,b,h

Select the correct answer from the

options given below-

A. (©)=>(d)—=>((b)—(@)
B. (b)—(@)—(d)—(c)
C. (@—>(b)—=>(c)—>(d)
D. (b)—=(¢)—>(d)—>(a)

117.

118.

‘Time Calculator’ & fe=t (D), Hugi (H),

it (M) T SeRUsH (S) 1 0 T HA

& foru fe =Tt =Rt sgaftera Shifse-

(a) HFAFA 6 Add+ ! T8 L

(b) TF: D, H, M T S o HHI sl
ERENCERIERE Y

(c) HFAFI % HFAFIE A hl T8
EZY

(d) D, H, M Td S &I cAsheiet H Tfag
EZY

T fer o foreredt @ Wit SR 1 =R

-

A. (a)—(c)—=>(b)—>(d)

B. (¢)—(a)—>(b)—>(d)

C. (d)—=(a)—=>(b)—>(c)

D. (b)—>(d)—>(a)—>(c)

Teh YT T 3T J1d o o fofe fe

ST ohl T ShifsTu-

(a) FATY T AT V =Lxbxh

(b) Lxbxh FE@HR

(c) I I TR (£ ), TNSTE (b) qAT
TS (h) I

(d) £,b,h FAA

et for r forepedt @ |t ST -

A. ()= (d)—=>(b)—>(a)

B. (b)—>(@)—>(d)—(c)

C. (@—>(d)—>(c)—>(d)

D. (b)—=>(c)—>(d)—(a)
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119. In the number 537682 the difference 119. €T 537682 H 7 % TAHT I T AT

?f)place value and load value of 7 is- T T 3= 8-

a) 70000

(b) 69993 (a) 70000
() 6993 (b) 69993
(d) 7675 (c) 6993
Select the correct answer from the (d) 7675
following options. ﬁﬂﬁmﬁﬂ%ﬁw%ﬁﬁ-
A. (c)onl

() only A. Fad (c)
B. (a) and (c) only
C. (b) and (d) only B. S (a) T (c)
D. (a) only C. dd (b) T (d)
D. %dd (a)

120. In how much time simple interest of 120. fohd= T9T | T 600 T ATLRIT SATST 6%
%600 at the rate of 6% annually will be aTfeh T T 360 B TR
%3607

A. 6T
A. 6 years
B. 10 years B. 10a
C. 5years C. 5ay
D.
6% years D. 6% ad

SPACE FOR ROUGH WORK / &% &Td & fo1 e
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PART -V

Environmental Studies

121. The star shines due to-

A.

B
C.
D

Scattering of Light

. Internal Reflection

Atmospheric Refraction

. Atmospheric Reflection

122. Jot down the steps involved in
cultivating onions.

(@)
(b)

(©)
(d)
()
A.
B.
C.

D.

Tilling the ground

Removing the dried leaves from
the onion’s top

Weeding

Planting the seeds

Cutting the onion

(b), (). (). (a). (d)
(), (d), (). (). (b)
(b), (@), (c), (), (d)
(b), (¢), (a), (d), (¢)

123. Which is the correct sequence of food
chain?

A.

B
C.
D

Sun — Grass — Deer — Lion

. Sun—Deer—Lion— Grass

Sun — Deer — Grass — Lion

. Sun—Lion— Grass — Deer

121.

122.

123.

YITERUT AT

A. TS HT TehivlT
B. 3fAfeh &
C. IgHSHRT STuad
D. dgHSHE wrEd

TSI 3h1 el H et =0T ol for-

(a) SIS (Qd) ST

(b) AT o GYell | gl gl g

(c) T

(d) st

(e) IS ShIAT

A. (b), (), (), (a), (d)
B. (2), (d), (c), (e), (b)
C. (b),(a),(c), (e), (d)
D. (b), (c), (a), (d), (e)

QT %@ 1 Tl 37 IF 61 82

A oI >TT >IN
B. @R >Wouw
C. WoRH>aE >IN
D. T >IN —>aE e

SPACE FOR ROUGH WORK / &% &Td & fo1 e
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124. Environmental Educations

Fundamental Goal is to-

(a) Adapt to alterations in the
surroundings

(b) Assist in addressing the
environmental risks

(c) Encourage people to think
critically about new topics

(d) Raise public understanding and
awareness of environmental
Issues.

(e) Strengthen your ability to solve
problems and make decisions
when it comes to dealing with
environmental issues.

Choose the correct answer-

A. (a), (b), (c) only
B. (c), (d), (e) only
C. (b), (c) (d) only
D. (d), (e), (@) only

124. ofarer fRvef 1 4@ @& &-

(a) STTHUTH o SIGATAI o ITTh ST

(b) TateofiT Siifew & fues ¥ wemEar
HEAT

(¢) T et 1T ot ox Tivfiear & g
% o wieefed =

(d) wRITeReT Eeleft WET o AN H Araweh
W?:ﬁ'{\ﬂl‘lbchdl deldl

(¢) Taterofir Hel @ fued & fag
EETHT h! A SR i o
T &FHAT 1 AT il

TET I BT I -

A. & (a), (b), (c)

B. &ad (c), (d), (e)

C. &ad (b), (c) (d)

D. & (d), (), (a)
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125.

126.

Directions - For the below Assertion
(A) and Reason (R) choose the correct
alternative.

Assertion (A) : Environment
Education is a process of research and
action on actual environmental
problems.

Reason (R) : Children are taught about
a variety of topics, including equality,
the environment and many others but
they do not acquire the knowledge or
attitudes necessary to tackle these
problems.

Select the correct answer from the
options given below-

A. Both Assertion (A) and Reason
(R) are true.

B. Both Assertion (A) and Reason
(R) are false.

C. Assertion (A) is true but Reason
(R) is false.

D. Reason (R) is true, Assertion (A)
is false.

What causes the cycle of Day and

Night on earth?

A. Both Rotation and Revolution of
the Earth

B. Rotation of the Earth
Revolution of the Earth

O

D. None of the above

125.

126.

feemfaesT - Fi fiw T e (A) 3T RO

(R) %1 & forhed -

FYT (A) : qITaLoT 16T A fareh

yeferufter GEeTaty ot siver ST riars

Teh sk 2

SHTOT (R) : ST ohl GHTAT, TATSLOT qT

g o1 forat 3 o o I ST §, Afeh

3 g wwerst § fraed % for stmawae

FIE DI RARCal B I R

e fow T forereat § @ w2t S -

A. FIT(A) IR FHRT (R) ST T 2

B. % (A) 3T HNT (R) THT 30 B

C. ¥ (A) TH ¢ 3R HW (R) A
2

D. &R (R) U § 3T HY (A) T8
&

qeaft 9T T SR T T =5k TR HR0T &
BIaT 87

A. et T U ST AR ST

B. geaft 1 =i

C. gt T qiRATT

D. T & IS T
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127. Match the following- 127. fyfaRaa = fiemd-

Column - | -1
(a) Pre-operational stage @ ‘;ﬁ?ﬂ‘{ﬂtmw
(b) Sensorimotor stage .
(c) Concrete operational stage (b)  HEfHTET T
(d) Formal operational stage ORCERESISEEI
Column - 11 (d) U=k g = o
() Manipulation of objects in the o

environment

(I) Child begins to think logically (I) IR 5 S HT T

(111) Child begins to acquire (IT) ST qicheh & & H=HT e AT
vocabulary ATl
(v) Chilq learns to_a(_jd, subtract, (1) WW@W‘{&W%%
multiply and divide
A il bl ool dlv (IV) ST ST, BT, T[0T AT 3R
. a- ] - ] - ] -
T AT HEaT 2|
B. a-lll, b-1, c-1V, d-1l
C. a1V b-l. c-I1. d-1 A. a-IIl, b-1I, c-1, d-IV
D. a-l, b-1V, c-Il, d-11I B. a-IIL, b-l, c-IV, d-II
C. a-1V, b-l, c-II, d-III
D. a-I, b-1V, c-II, d-11I

128. Which gas is essential for preserving 128. qrgHe T AIHH SHIE T&H & g i

temperature of the atmosphere? o g e 20
A. Nitrogen A ;
B. Oxygen }
. B. 3ATeESH
C. Carbon dioxide
D. Argon C. e SEATHES
D. 3T

SPACE FOR ROUGH WORK / &% &Td & fo1 e
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129.

130.

During online classes, how will an
EVS teacher teach visually challenged
students?

(a) By using voice messages

(b) Using lots of oral presentation

(c) By peer explanation

(d) Using concrete experiences

A. (a), (b) and (c)

B. (b), (c) and (d)

C. (b) and (d)

D. (@), (b), (c) and (d)

Which of the following statements

about the constructivist method of

teaching and learning in EVS is true?

() Most of the time students are in
groups where instruction is
dynamic and participatory.
The focus of activities is on
discussion, intellectual
engagement and conclusion
making.

Both (1) and (1)

Only (1)
Neither (1) nor (1)
Only (1)

(1

oo w»

129.

130.

HATATST T3 o S Teh 3.91.TH,
faTeqen gfEaTTierd ST 1 e TQTET?
(a) €T G T STANT Fleh

(b) wRereh eIt 3T ST ok
(c) IR gRT TSRO T

(d) 3 SITwET T ITATT e

A. (a), (b) 3 (c)

B. (b), (c) 3R (d)

C. (b) 3R (d)

D. (a), (b), (c) R (d)

3 ot w@ o faretor SR fae it e

yeefd & o 7 F=ferfaa O @ i a1 weH

T 22

(1) 3Afermter Ty foremeff omgel & Sa 8
STeT feror fersfier oK Tewwit g 2|

(1) TTiafarfer st sk ==, siftaeh
Tear S fsp fehrers W R

A. SHT (1) 3R (1D)

B. %ad (I)

C. ) (1)

D. ad (II)
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131.

132.

133.

Identify the symbol-

ul

A. Dam
B. Well
C. Statue
D. School

The Moon, Sun and Earth’s position
during lunar eclipse are-

A. Moon — Sun — Earth
B. Sun - Earth — Moon
C. Sun - Moon - Earth
D. Earth — Sun — Moon

EVS mapping abilities aid in the
development-

A. The aptitude for computation and

prediction
B. Recording abilities

C. Comprehension of the relative
position of places

D. The ability to sketch landscapes

131.

132.

133.

Yc1eh hl TgTH-

ul

A. g

B. &

C. #fd

D. ¥ (feremera)

<43 T80T o SR <z, T S gealt Y
feurfdr 38 TR 7-

A. =izt - g - geslt

B. g - geeft — =iz

C. g3 —=isH—qeaft

D. et — g — =iz

§ oft ww W gwTd forer | were
Bt 8-

A. TTOHT SR AT 6 forg A
B. fapifem gwar

C. T sl qruey feafer o wmet

D. gvaT T T ST 3T &
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134.

135.

Which order best describes the food
chain if ‘A’ stands for insects, ‘B’ for
hawks, ‘C’ for snakes and ‘D’ for
frogs?

A. (b)—>(a)—>(c)—>(d)

B. (¢)—>(@)—(b)—>(d)

C. (d)—>()—>(@)—(b)

D. (@—(d)—>(c)—(b)

Directions - For the below Assertion
(A) and Reason (R).

Choose the correct alternative.
Assertion (A) : To improve learning,
EVS teachers should make good use
of technology and multimedia
materials.

Reason (R) : Students can have
interesting and dynamic learning
experiences with multimedia and
technology.

A. Assertion (A) and Reason (R) both
are false.

B. Assertion (A) is true but Reason
(R) is false.

C. Assertion (A) and Reason (R) both
are true.

D. Assertion (A) is false but Reason
(R) is true.

134.

135.

gfe ‘A’ e R, ‘B’ 99, ‘C’ 9iq 3T D’
Tgeh Al i< T 3hH TR HEAT o1 G
37T U AT B2

A. (b)—(@)—()—>()
B. (c)—>(@)—(b)—(d)
C. (d—>(C)—@—(Db)
D. (@—(d)—>(c)—(b)

feemfaesr - Fi fiw T e (A) 3T RO
(R) %1 & forshed M-

F (A) : Hig it 9fshaT T Sga T M
o fore 3.t wm. firersht 1 Srnfiveht 37
nedtHifear AT T ST=sT SUFT AT
=tey)

T (R) : AeerHifean 31 renfishi o
oTeTT Y ST Rl rereh ST TTforefiet farefor
3T T & Hehell

A. T (A) 3R FHRT (R) THT 39 B

B. &9 (A) AT § Tifehd ST (R) T
2

C. &9 (A) 3 HA (R) ST T &

D. & (A) 3T & ok SR (R)

2
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136. Students are given photos of various 136. BT i farf¥= STt ot aeefil €t STt &

animals to colour the ones that they TR S 37 ST 0l T o ST 39 50
don’t reside in their rooms. The aim is . : S :
0 inculoate Tef Ted €| 309 T BT I AU R 2-
(a) Observation (2) ST

(b) Data Gathering (b) S THHTHL

(c) Creative Thinking (c) ToFTcHs O

(d) Categorization (d) et

A. (a), (b) and (c)

B. (a), (b) and (d)

C. (), (c) and (d) B

D. (b), (c) and (d) C. (a), (c) ¥R (d)
D. (b), (c) 3T (d)

A. (a), (b) 3 (c)
. (a), (b) 3 (d)

137. The aim of assessment on enhancing 137. i@ sl sig o foIq Heish o 3899 &-
learning is- A. st feuf § geie

A. Assessment in formal situation
B. HhaH T qeaish

B.
C. Assessment for learning C. i = foag s
D.

Assessment as learning D. HRaH & ¥ qedihd

Assessment of learning
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138. Which of the following best sums up

child centered approaches to EVS

instruction at primary school level?
(b) Demonstration

(@) Survey
(c) Discussion (d) Lecture

A. (c) and (d)
B. (a) and (c)
C. (a)and (d)
D. (b) and (c)

138. famfafagd ¥ 9 19 a1 wrafies foeme

T I E AT, SIH & fore o s
gISehIVT ol TETH &9 & GIITT 87
(a) AT (b) ¥IH
(c) ==t (d) =EIH

A. (c) 3 (d)
B. (a) 3 (c)
C. (a) 3T (d)
D. (b) 3R (c)
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139.

140.

Make correct pairs-
Column - A
(@) Froebel’s
(b) Rousseau
(c) Raymont
(d) Montessori
Column - B
(I)  School is the home of childhood
(I1) Mothers are ideal teachers
(1) Naturalist Philosopher
(IV) Family is the first place of
learning
Choose the correct from the options
given below-

A. a-l, b-11, c-lll, d-1V
B. a-lll, b-Il, c-1, d-IV
C. a-ll, b-ll, c-1V, d-I
D. a-1V, b-1ll, c-1, d-ll

Which organ is most affected by
Tobacco Smoking?

A. Lungs
B. Skin
C. Ear
D. Small Intestine

139.

140.

SIS IICRICE IR

I - A
(a) B
(b) =4
(c) e
(d) Wil

i - B
(1) Frme s TR
(II) HTaTE ATesT AeAfuehid &)
(1) Srhfcraret aTeifen
(IV) 9T HE= =T Jo T 2
T o et o @ ot ST FHT =T
I

a-1, b-11, c-III, d-IV

a-T11, b-T1, c-I, d-TV

a-11, b-11I, c-1V, d-I

o o w >

a-IV, b-111, c-1, d-II

qwaITeh o GHUT & shi= | 3T e
TR BT 82

A. THS

B. =i

C. &aH
D. a3
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141.

142.

Assertion (A) : Sharda act was made
in 1929.

Reason (R) : The government fixed
the age of girls at 18 years and boys at
21 years for marriage.

On the basis of the above statement
Assertion (A) and Reason (R), choose
the correct answer from the options
given below-

A. Both Assertion (A) and Reason
(R) are true and Reason (R) is the
correct explanation of Assertion
(A).

B. Both Assertion (A) and Reason
(R) are true and Reason (R) is not
the correct explanation of
Assertion (A).

C. Assertion (A) is true but Reason
(R) is false.

D. Assertion (A) is false but Reason
(R) is true.

Nuclear family means-

A. Only Husband and Wife

B. Parents and Children

C. Persons who came from outside
after 1971

D. Parents, Children, Grandparents,
Uncle-Aunt etc.

141.

142.

Y (A) : ITRET T 1929 T =TT TT0T|

HWOT (R) : TR A 1T} & oI argeht Y

39 18 99 U Tk hY 37 21 99 [yt

il

I U (A) T HRT (R) o SATIR T A=

e T ferrent # & o St -

A. FIT (A) IFFHRT (R) ST T &
qUT HIT (R), FAT (A) T T
AT B

B. ¥ (A) N R (R) THI TT &
qUT T (R), FAT (A) T T
STEAT 78 2

C. F¥T (A) T 2 AT HRT (R) 6
2

D. &Y (A) 3TH & TUT HRT (R) T
2

Tehed ITGaTR T 379 2-

A. I afd — de

B. HTaT-fUar ua sl

C. a9 1971 o A8 SR § A AR

D. wrdr-fuar, s, gTeT-aTel, =m=r-=m=
ERIIES
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143.

144.

145.

If a women’s neck gland has grown
too much then which mineral will she
be deficient in-

A. Sodium
B. Potassium
C. Calcium
D. lodine

Infectious diseases are-
(h Cancer (1)  Anaemia
(1) H.LV. (IV) Measles

Select correct answer from the options
given below-

A. ()and (1)

B. (1) and (I11)

C. (1) and (1V)
D. (I), (1) and (IV)

To prevent which diseases is DPT
vaccine given to children?

() Jaundice (II) Diphtheria

(1) Tetanus (IV) Whooping cough
Which of the above would be the
correct option-

A. (I)and (Il)

B. (1) and (I11)

C. (), (1N and (111)

D. (I, (1) and (1V)

143.

144,

145.

7 foreft wfee % et <t ofewr § sga
stferes g 1 7T & A1 34 foher @t waor
T e B2

A. TifeTm

B. uefirm

C. Ffesrm

D. RN

TshTH U -

1) HE (In) ot

1) . (V) @Ea
A ot forehedt o @ el S -

A. (D) 3R (ID)

B. (II) 31 (111

C. (III) R (1V)

D. (1), (II) 3R (IV)

... a1 drent s ol for st &
srITe o foTT ST ST 22
ORISR (1) fewefifar
(1) fera (IV) el @iet
U |  Fal forehed ghm-

A. (DT (ID)
B. (II) Td (1)
C
D

. (D, (ID) T (111)
. (D), (II) T (IV)
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146. Arrange the organs in the human

digestive system starting from mouth

to anus in sequence-
() Pharynx (1) Stomach
(111) Oesophagus (1V) lleum

(V) Duodenum (VI) Large Intestine
Choose the correct answer from the

options given below-

A.

> >N >N >1v) >
(V1)
M>>I > (V) > (V) >
(V1)
(> @ =>un>v)> >
(V)
(my>O=>N)>Un>1v) >
(V1)

147. What is Man in The Food Chain?

A

Producer

B. Consumer
C.
D. Decomposer

Both of the above

146. wrefer o AT 5 H HE H T e A
% I T ShW O STITrd ehiforu-
(1) TEt (II) IEEE
(I11) et (IV) 3ferm
(V) weoft (VI) =<t 3
A forer ferspedt o & @@t ST M-
A. (D) > (1) > (1) > (V) > (IV) > (V])
B. (I)>(I) > (II)) > (IV) > (V) > (VI)
C. (1) > (I) > (II) > (V) > (VD) > (IV)
D

. (D> @ > (V)> 1) > AV) > (VI)

147, Qrer sjEe s T 2
A. 3dIah
B. SUHIH
C. SWIh IHT

D. 9=
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148. The components of desert ecosystem
will be-

() Heat, Soil, Water
(1) Thorny bushes
(111) Camel, Sheep, Goat, Rat

Which of the above would be the
correct option?

A. (I)

B. (I)and (II)

C. (1) and (I11)
D. (1), (11) and (11

149. In the food web-
A. Food chain occurs
B. There is no food chain
C. Food chain is connected
D

. None of the above

148. werorcfiy urfiifEufaes 9 & =eeh ghl-

149.

(D) T, T, S

(1) skt sfeat

(1) Fe, e, s, <2
ST H § HEl ferehey gim-

A. (D
B. (I) 3R (1)
C. (II) 3T (1)
D. (D), (II) 3R (IID)

QT ST H-

A. T 4@ BT &

B. W J@dT 2 erdl &

C. T el I Bl §
D. SURE § | &S el
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150. In Grass ecosystem, the pyramid of 150. =& & yritfkefaes o & Sfear & fuufre
biomass from bottom to top will be- T e @ ST T 3 M-

() Tertiary Consumer O ; ;
(1) Primary Consumer :

(111) Secondary Consumer (IT)  STTerfereh STefihT
(1V) Producer O REGIRERER IR
The correct order of the above (IV) 3euTEh
components will be- S S S——

A, (IV) > (1) > (1) > (1)

B. (IV)> (1) > (1) > (1) A. (IV)> (D) > (11D > (II)

C. (I)> (1> (1) > (IV) B. (Iv)> (D> > (1)
D. (IV)> (1) > (1) > (I11) C. (> (1) > (1) > (IV)
D. (V) > (I) > (II) > (III)
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IR 3ifoRd T /T HET 2.30 ¥

Time for making answers : 2.30 Hours

?\EJ':“S*’!"'."H/

37| SETA

SAfereraw 3ik : 150
Maximum Marks : 150

39 TTo7 qfRaeht R 0T B |

ek T2 01 31eh T 8 | T T2 61 AT AT 7 |

T2t o I & T8 OMR STR-31e (3rTawsiie) W sifera hifsmm |

SRUTTCHEh HodTeha T TehdT TS |

ToREft off T8 o HeTEeIel AT AN e U WIATSE i T SIERT S § |
OMR STR-91 (TFETINE) T TTRT Tl THT UHT I AT T
THi/ad NEd T8 We W a1 36 |ig 1 ferae anfe ug W e
FHAEIEY 9E T & W |

HUTerg 97T / fawat <ht foreqa et |

W Tramor TehIEEAT | ik
TUAH AT | o7t {ehT|r Ua frerT e 30 30
g am | =&=h 30 30
TAT WRT | ST 30 30
IqA 9 | T 30 30
U OTT | IRt Arsaa 30 30
Note :
1. This question booklet contains four Section.
2. Each question contains 01 marks. All question are compulsory.
3. Indicate your answers on the OMR Answer-Sheet provided.
4. No negative marking will be done.
5. Use of any type of calculator or log table and mobile phone

o

is prohibited.
While using OMR Answer-Sheet care should be taken so that

the Answer-Sheet does not get torn or spoiled due to folds or wrinkles.

Details of Parts/Subjects :

Part | Particular No. of Marks
Questions
First Child Development and Pedagogy 30 30
Second | Hindi 30 30
Third English 30 30
Fourth | Mathematic 30 30
Five Environmental Studies 30 30
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